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	2016 July SAP Official New Released C_BOCR_11 Q&As in Lead2pass.com! 100% Free Download! 100% Pass Guaranteed!

Lead2pass is constantly updating C_BOCR_11 exam materials. We will provide our customers with the latest and the most accurate

exam questions and answers that cover a comprehensive knowledge point, which will help you easily prepare for C_BOCR_11

exam and successfully pass your exam. You just need to spend 20-30 hours on studying the exam dumps. Following questions and

answers are all new published by SAP Official Exam Center: http://www.lead2pass.com/c-bocr-11.html QUESTION 141 You create

a variable in a subreport to pass back the following formula, called @SKUcalc, to the main report: WhilePrintingRecords;

Numbervar SKU; SKU:=maximum(Part.PartID); In the main report, you create a formula called @SKUdisplay to display the SKU

number: WhilePrintingRecords; Numbervar SKU; SKU When the report is run @SKUdisplay returns a NULL value. Which

statement explains why the result of the formula is NULL? A.    You did not declare the variable as a shared variable. B.    You did

not re-declare the variable in the main report. C.    Only local variables can pass values from a subreport to a report. D.    You did not

declare the variable as a global variable.Answer: A QUESTION 142 You have been asked to create a sales report that will be

scheduled and emailed to regional managers. You have decided to index saved data to improve report performance. Which of the

following is correct? (Choose two.) A.    Index fields that contain unique values B.    Index fields that are referenced in the record

selection formula C.    Do not index all of the fields in a report D.    Indexing fields will reduce the report file size Answer: BC

QUESTION 143 How do you indicate the file type of the output file when using an XML transform? A.    Specify the file type when

adding a new transform B.    Select the file type from a list when exporting using a transform C.    Choose the file type when

creating a new report with a transform D.    Identify the file type when connecting to the data source Answer: A QUESTION 144

You want to ensure that your Orphaned Invoice listing report displays only invoices that do not have valid Customer ID numbers.

When you link the Customer and Invoice tables using the Customer ID field, what type of join do you specify? A.    Right Outer Join

B.    Enforced To Join C.    Right Inner Join D.    Not Equal Join Answer: A QUESTION 145 You design a Crystal report for the

sales department that is grouped by customer ID and order date and contains subtotals at both group levels. The Page Header

contains the special field Page N of M. What is the highest stage of processing that this report requires? A.    Pass 2 B.    Pass 1 C.   

Pass 4 D.    Pass 3 Answer: D QUESTION 146 You design a report with content that needs to be maintained by the HR department

in a MS Word document that is updated daily. How can you dynamically incorporate that content into a Crystal report? A.    Create a

dynamic connection to the HR database B.    Insert a shared variable in the report header C.    Hyperlink to the file on the HR server

D.    Insert a dynamic subreport in the report footer Answer: C QUESTION 147 Which two statements are true of a native database

connection for SQL based databases? (Choose two.) A.    Requires a database client B.    Has more translation layers than other

connection types C.    Goes through the ODBC layer D.    Connects directly to its specific database type Answer: AD QUESTION

148 You must create a formula in a Crystal report that will evaluate an array, determine if the field value is already present in the

array and add the value if it does not exist as an array member. You must keep all existing array members when new values are

added. There are 900 potential array members. You develop the following formula, but find that it does not work as required: shared

idarray() as number shared rtI as number if onfirstrecord or {Customer.Country} <> previousvalue({Customer.Country}) thenredim

idarray(1) rtI := 0 end if if not({Orders.Order ID} in idarray) then rtI := rtI + 1 formula := idarray(rtI) Which modification will make

the following formula work correctly? A.    Increment a second counter. B.    Re-declare the variables with a new scope. C.   

Change the assign operators from Crystal to Basic syntax. D.    Add another array variable to account for all potential array

members. Answer: C QUESTION 149 You have a report that contains an unlinked subreport. Which technique would you use to

retrieve additional information on demand from within the subreport? A.    Use a linked subreport B.    Use a linked On-Demand

report C.    Hyperlink to another report D.    Create an On-Demand subreport Answer: C QUESTION 150 In a report you need to

base a calculation on a shared variable passed from a subreport. Which two evaluation times could be used in the calculation?

(Choose two.) A.    WhileReadingRecords B.    EvaluateAfter C.    BeforeReadingRecords D.    WhilePrintingRecords Answer: BD 

Lead2pass is no doubt your best choice. Using the SAP C_BOCR_11 exam dumps can let you improve the efficiency of your

studying so that it can help you save much more time. 2016 SAP C_BOCR_11 exam dumps (All 293 Q&As) from Lead2pass: 
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